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alpha46_4eY4aY:cyclenum {run == 7139}
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delta13_12X4eX:cyclenum {run == 7139}
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106−

105.5−

105−

104.5−
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usl_1X:cyclenum {run == 7139}
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usl_4aY:cyclenum {run == 7139}
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usl_4eX:cyclenum {run == 7139}
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usr_1X:cyclenum {run == 7139}

8093 8093.5 8094 8094.5 8095
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cyclenum

206.5

207

207.5

208

208.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7139}
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usr_4eY:cyclenum {run == 7139}
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cyclenum

7137

7137.5

7138

7138.5

7139

7139.5
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usl_coil1:cyclenum {run == 7139}
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usl_coil3:cyclenum {run == 7139}
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usl_coil4:cyclenum {run == 7139}
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usl_coil6:cyclenum {run == 7139}
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usr_coil1:cyclenum {run == 7139}
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usr_coil3:cyclenum {run == 7139}
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8093 8093.5 8094 8094.5 8095
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8093 8093.5 8094 8094.5 8095
cyclenum

437−

436.5−

436−

435.5−

435−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7139}

8093 8093.5 8094 8094.5 8095
cyclenum

7137

7137.5

7138

7138.5

7139

7139.5

7140

7140.5

7141

ru
n

run:cyclenum {run == 7139}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


